Maths Support Pack - Week 6

This pack includes your 3 maths lessons for the week. The pack includes:

v Maths starters to keep your brains working fast!
3 maths lessons

Links to online lessons for Lesson 1 and 2
Worksheets and answer sheets

Extension Task

AN N NN

This pack is to help you, so read through as carefully as possible so that you know what to do for
your maths this week. In week 6, we are focusing on Adding and Subtracting Decimals within 1.
Try your best with everything, these are all activities that you can do this all, we've done it
before! Happy Learning Year 5! @

Lesson 1 - Teach and Practise- Adding decimals to 1

Starter - Daily 10

https://www.topmarks.co.uk/maths-games/daily10

Practise whatever you feel you need a freshen up with, try to answer your questions in 7
seconds or less like we do in school!

Input -

Open this link https://whiterosemaths.com/homelearning/year-5/. Click on Summer Term, Week
1, Lesson 1 to watch the online lesson.

Summer Term - Week 1 (w/c 20 A

Lesson 1 - Adding decimals within 1
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https://www.topmarks.co.uk/maths-games/daily10
https://whiterosemaths.com/homelearning/year-5/

Activity: Complete the questions that are below. Watch the video for this lesson as many times as you need to. It's there to help youl

Adding decimals within 1

a) 0.3 +0.2 = b)

0 01 ©02 03 04 05 06 07 08 09 1

o Work out the additions.
Use the number lines to help you.

b) 0.1+ 04 =

o Complete the additions.

Use the place value charts to help you.

OO0 |00
Q0o

¢ 0.2+01+02= + “80

b) 0.28 + 0.32 = - Tenths Hundredths
| | | | | | | | | | |

0 01 02 03 04 05 08 07 08 09 1 [

+ -
What do you notice about your answers? @

Page 2 of 9



c) 0.28 + 036 = - Tenths Hundredths

o Jack has set up a column addition
to work out 0.19 + 0.07 0+«1 9

Y

What mistake has Jack made? + 0«7

+ . -

o Use the column method to work out the additions. o Work out 7 hundredths + 34 hundredths.
a) d) Give your answer as a decimal.
0D+ 4 2 0D+ 4 2
- 0+« 3 + 0«0 3 3

7 hundredths + 34 hundredths =

b) e)
0+0 4 0+ 4 3 6
o Eva drinks o quarter of a litre of water.
0+ 3 3 0+ 1 7 .
M * Mo drinks 0.3 litres of water.
| | Whitney drinks a tenth of a litre more water than Mo.
How much water do Eva, Mo and Whitney
drink altogether?
c) f)
0+ 4 0 2 o7 5 1
+ 0+ 0 3 + 0+0 9

If you have struggled with any of the questions, just go back and rewatch the video to check you are happy. When you're done, open the
answers document to check your work.
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Lesson 2 - Teach and Practise- Subtracting decimals to 1

Starter - Maths Challenge Question

Can you put the numbers 1to 7
in each circle so that the total

of every line is 127

Input -

Open this link https://whiterosemaths.com/homelearning/year-5/. Click on Summer Term, Week
1, Lesson 2 to watch the online lesson.

Lesson 2 - Subtracting decimals within 1

07 — 02 = L]

\ e

1

@ '0.76 |O

—_— 0 e 2 I

Online video
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https://whiterosemaths.com/homelearning/year-5/

Activity: Complete the questions that are below. Watch the video for this lesson as many times as you need to. It's there to help you!

Subtracting decimals within 1

c)

o Work out the subtractions.

Use the number lines to help you.

a) 09-02= b) d)

0 01 02 03 04 05 086 07 08 09 1

Sl

b) 0.8-0.1=

o Complete the subtractions.

Use the place value charts to help you. The first one has been

| | | | | | | | | | | started for you.
|

0 01 02 03 04 05 06 07 08 09 1

a) 042 -03 =
Tenths Hundredths
¢ 1-02-01= O@ @@
%]%)]
b) 0.28 - 0.05 =

0 01 02 03 04 05 06 07 08 09 1 Tenths Hundredths
Q0O 0000
What do you notice about your answers? @ @ @ @ @
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o Use the column method to work out the subtractions. o Find the difference between 53 hundredths and 8 tenths.

a) 0 Give your answer as a decimal.

D+ 8 9 o+ 7 7

- 0+a - |0o+«6 | 8

The difference between 53 hundredths and 8 tenths is

b) d) o A piece of wood is 0.9 metres long.
It is cut into 3 unequal pieces.

The first piece is 0.2 metres longer than the second piece.

The third piece is 23 hundredths of a metre shorter than the
second piece.

e
[ can’t work out 0.56 — 0.099 2rd

because 99 is bigger than 56

How long is each piece of wood?

Do you agree with Eva?

Work out the answer to 0.56 — 0.099

1st = 2nd = 3rd =

If you have struggled with any of the questions, just go back and rewatch the video to check you are happy. When you're done, open the
answers document to check your work.
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Lesson 3 - Apply

Starter - Quick 10

Answer these 10 questions, these are all things you know! It'll help to train your brain back to being
able to answer those quick-fire questions!

Question Answer Question Answer
EXAMPLE: 2 X 4= |8
1. 1240 + 9820 = 6. 7x7=
2. 10 squared = 7. 34 x100 =
3. 3x8= 8. 20x4-=
4 11x6-= 9. 3678- 2109 =
5. 260 +10 = 10. 12809 + 32852 =

Activity: There are different practise test questions based on what you have been learning
throughout Lesson 1 and Lesson 2.

Circle two numbers which add to make 0.12

1. ,
R
0.1 0.5 0.05 0.7 0.07 0.2
1 mark
?
2 T
1 mark
3.
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. 0.333 + = 1
— ™

| think the answer is O.77 7
because
03 +07 =1
003 + 007 =01
O.003 + 0007 = 0.01
-~ — < @

=

Do wou agree with Tormimy?
Can you explain what his mistake was™?

5. 6. 4 5.05
-3. 8 —-2.15

4 42 4 .55

+ 7 .63 +3 .07

Well done for working your way through your Maths Worksheets. I can't wait to see how well you've
done! Don't forget to check all your work against the answers!
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Extension Task

Complete the section you normally do in school!
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